

# WESTERN DISTRICT CRICKET CLUB

# FOURTEENTH ANNUAL REPORT

SEASON 1982-83



# WESTERN DISTRICT CRICKET CLUB (AFFILIATED WITH A.C.T. CRICKET ASSOCIATION)

### ANNUAL GENERAL MEETING

Notice is hereby given that the 15th Annual General Meeting of the above club will be held at the Western District Rugby Union Club, Macquarie, at 8.00 pm on Friday 15 July, 1983.

### BUSINESS

- Reading and confirmation of minutes of the last Annual General Meeting.
- 2. Consideration of Annual Report and Honorary Treasurer's Statement.
- 3. Notices of Motion.
- 4. Election of Life Members.
- 5. Election of Office Bearers and Officers.
- 6. Fixing of annual subscriptions.
- 7. Other Business.

David Matthews
Hon. Secretary

12 Verbrugghen Street
MELBA ACT 2615

# WESTERN DISTRICT CRICKET CLUB

### ANNUAL REPORT

## <u>1982-3</u>

### TABLE OF CONTENTS

	Page
Office Bearers and Officers	2
President's Report	3
Report of the Management Committee	5
Honorary Treasurer's Report	11
Junior Committee's Report	14
Life Membership	16
First Grade Report and Averages	17
Second Grade Report and Averages	22
Third Grade Report and Averages	28
Fourth Grade Report and Averages	33
Club Career Performances: 1969/70 to	
1982/83	37
Club Batting Records	44
Club Awards	45
History of Club and Past Office Bearers	46
Club Membership: 1982/83	47

### OFFICE BEARERS AND OFFICERS 1982-83

PATRON : Mr Ken Fry, MP

PRESIDENT : W. Boardman

SENIOR VICE PRESIDENT : S. Smith

SENIOR VICE PRESIDENT (JUNIORS) : G. Walsh

VICE PRESIDENTS : A. Casey, P. Harris, B. Dockrill,

F. Eade, B. Lindenmayer,

P. Rudge, R. Moloney,

J. Hensley

HONORARY SECRETARY : D. Matthews

HONORARY TREASURER : G. Garrity

HONORARY ASSISTANT SECRETARY : G. Gelding

HONORARY ASSISTANT TREASURER : R. Scott

MANAGEMENT COMMITTEE : S. Marshall, G. O'Sullivan,

D. Small, N. Davidson,

A. Macdonald, K. Flaherty

JUNIORS COMMITTEE : S. Smith, T. Healy, A. Skimin,

E. Wheeler

CHAIRMAN OF SELECTORS : A. Price

PROVISIONAL SELECTION COMMITTEE : A. Price, K. Flaherty, R. Scott

SELECTION COMMITTEES

First Grade : Chairman, D. Moore, W. Boardman

Second Grade : Chairman, W. Boardman, R. Scott

Third Grade : Chairman, R. Scott, R. Reeson

Fourth Grade : Chairman, R. Reeson, G. Garrity

KIT COMMITTEE : N. Anderson (Resigned Dec 82)

S. Marshall, W. Blackshaw

SOCIAL COMMITTEE : N. Davidson (Secretary),

A. Macdonald, G. Croker

ACTCA DELEGATES : D. Matthews, R. Scott, R. Rogers

HONORARY AUDITOR : M.H. Marshall

### PRESIDENT'S REPORT

I am pleased to be able to present this report as it gives me the opportunity, with the 15th anniversary of the Club coming up in the 1983-84 season, to express my thoughts regarding the direction Wests is heading.

Dave Matthews has prepared a very comprehensive Management Committee Report for your perusal, dealing with last season's activities both on and off the field, so I have consciously contented myself with writing a report which concentrates with events that have occurred during the off season to date.

Traditionally, President's Reports offer hope for the future, paint a rosy picture and thank all those people who helped run the Club. Whilst I am indebted to a few people for their support last season, I have no intention of being hypocritical and believe the time for straight talking has come.

Although we finished third in the Club Championship (how?), the 1982-83 season was one of disappointment to me personally, as I felt we would have "kicked on" to great heights given the talent at our disposal both on and off the field. It wasn't to be however, just a typical Wests cricket season with plenty of people offering advice and very few people prepared to work for the Club.

With the feeling that maybe I was out of step with the rest of the Club, and not wanting to wait until we were tenth on the Club Championship ladder, it was decided to ask the team captains for their views on methods we could adopt to improve our performance on the field.

The captains were unanimous in their condemnation of our nets practice, coaching, practice gear, attitude of players, Aranda Oval as a practice venue and the high turnover of players each week particularly 2nd to 4th grade.

With all this in mind, a meeting was then held to look at ways and means of improving our lot both on and off the field. The meeting comprised representatives of the Management Committee, Juniors, Womens Cricket and Club stalwarts. Even players, who had recently joined Wests from other clubs were asked to contribute.

Each person at the meeting was handed the agenda which contained some fifteen (15) points ranging from such diverse subjects as coaching and fund raising to Club tradition and recruitment of players. Decisions reached on these topics will be recommended to next season's Management Committee.

A fair amount of effort has gone into making sure Wests start next season off on the right foot, but this work will be to no avail if too many club members continue their apathetic approach towards practice, functions etc.

Gentlemen, I leave it up to you. If you want to belong to a <u>CLUB</u> - then the Management Committee would appreciate all the help and support it can get, but should you prefer it to remain the same then the newly elected management committee will know what is expected and take it easy.

Finally, I would like to thank on behalf of the W.D.C.C. the Secretary Manager Phil Harris of the Club Inc. for his active HELP during the season. Sincere appreciation is also extended to John Hensley and the Board of Directors for their financial and physical support.

### REPORT OF THE MANAGEMENT COMMITTEE

With the 1981/82 season's success still fresh in the minds of most, 1982/83 promised to be even better, both on and off the field. However, in many respects this was not to be. On the field the Club had in the District Competition, 1st and 4th grades, reach semi finals, but both were unsuccessful. The fifth team, playing in the City and Suburban competition, reached the semi finals after stringing together thirteen victories in succession, but were beaten in a close game, ending a much more successful season than in 1981/82.

The Club again finished third in the Club Championship, somewhat surprisingly in view of performances. In a ten club association that can be considered a satisfactory result. In retrospect, with the talent available it is disappointing. Again, unavailability of players played a major part in the overall club performance. A perusal of statistics reveals only four players were available for all matches during the season. Looking further, 26 players were used in 2nd grade, 35, repeat 35, in 3rd grade and 25 in 4th grade. Team stability can never happen in these circumstances.

The performance of the 4th grade side was encouraging, reaching the semi finals for the first occasion since 1978/79. Hopefully the younger members of that team will have learnt just what dedication to the game is from the "old hands" Ron Reeson and Gerry Garrity. As already indicated 3rd grade was the most unstable of all teams and its performances reflected this. The 2nd grade performance was most disappointing, missing the final four for the first time since 1973/74. On the other hand, 1st grade maintained its high position by finishing third. This side has not missed the semi finals since 1975/76.

The Club again performed well in the Twilight Competition. In an amazing finish South Woden defeated

Wests on the last ball of the final. Congratulations to all players who participated during the competition, reaching the final was in itself a great feat.

Several new players joined the club, however losses were not as severe as the previous season. Abundant talent is evident in the younger players and the future is bright provided this talent is nurtured in a professional manner. To this end the Club must give serious consideration to ways to improve practice and to employing a coach. The Committee is currently looking at these aspects with the aim of providing a plan for the incoming Committee.

Another matter of some concern is the relationship between the senior side of the Club and the juniors. If the future is to remain bright that relationship must become stronger.

A special mention now to players who could not hold regular places in teams. In particular Jeff Clarke, Ramon Dale, Herb May, Thomas O'Donnell, David Scott and John Taylor made themselves available to fill vacancies when regular players were absent. With a little more effort another team could emerge, ensuring regular cricket for these willing fellows. It is up to us all to endeavour to attract more players to the Club to provide that team.

There were several significant performances and milestones attained during the season. To name them:

Warren Blackshaw - 397 runs in only 7 matches, another 5 games could have meant 600 runs for the season.

Gerry Garrity - 381 runs and 48 wickets.

Marcus Cosgrave - 349 runs in his first senior season whilst still under 16 - a promising effort.

Glen Croker - passed the 2000 runs mark and played his 100th game for the Club.

Dene Moore - 32 wickets and became the first player in the Club's history to pass the 300 wickets mark.

Gerry Garrity - took his wicket tally past 200 - total now 239.

Garry Beauchamp - reached 150 wickets mark.

Steve Marshall - took his runs tally past 2000

Peter Bradley - played his 75th game

As indicated at the beginning of this report 1982/83 promised much, and it was the social side that the Management Committee was hopeful would materialise. Sadly, this did not occur. Spirit in the Club will never rise until more members show interest in club activities. A typical example was the raffle run early in the season. Much less profit from this venture was realised through lack of assistance in selling tickets.

The Annual Presentation Dinner was the only really successful function of the year. A premiership victory would have ensured an even better night, however all credit to Andy Macdonald who undoubtedly has a flair in this sphere. Then, bitter disappointment and again embarrassment when not one club member, other than those officially invited, bothered to attend the ACTCA Presentation Dinner. One wonders if this would have changed if trophies were to be collected.

Composition of the Management Committee remained stable for the year, however attendance at meetings was not consistent. The new Committee must ensure this matter is remedied. The introduction of younger members onto the Committee was a success, Glenn O'Sullivan being suitably rewarded by winning the Club Sticker award.

Prior to the Presentation Dinner the Committee decided to recommend that Life Membership be bestowed upon Gerry Garrity for his services to the Club. It is only a matter of reading this Annual Report to realise why that honour is justified.

A heavy representative programme was the only disturbance to an otherwise successful domestic season. For the first occasion, the ACT sent a representative team on an overseas tour, to New Zealand. Congratulations to Russell Rogers, as team captain, and Steve Marshall on being selected for that historic trip. The status of ACT cricket has undoubtedly risen due to the efforts both on and off the field by the touring players and officials. Later in the season, the touring New Zealand team played three 1-day games against the ACT, in a successful venture for the Association.

whilst the local competition was again well organised, ways of producing more positive cricket are being pursued. The Management Committee has considered options put forward by the ACTCA Cricket Committee and is at this time proposing variations to the structure of the competition. Of major importance is this Committee's decision to recommend deletion of bonus points entirely. We have also rejected the proposal for more Sunday cricket. Decisions on changes to the structure of the competition will not be made until the new ACTCA Executive etc is elected. The Club is also being represented on a Working Party set up to look at the future of ACT cricket and ways and means of streamlining and improving the image of the Association. The Club's image was again upheld with no members being involved in disciplinary matters.

Liaison with the Western District Rugby Union
Club (Inc) was again strong and we thank that organisation
for its support. It is hoped the relationship is strengthened
in the future. The licensed club is seeking the long term
lease of Jamison Oval and part of its bid for that lease is
the creation of a turf wicket at the oval. From the Cricket
Club's point of view, this is heartening news and it is hoped
the bid is successful. As part of its sponsorship activities,
the licensed club is providing funds for the construction of

a scoreboard at O'Connor Oval, and for Shopping Mall presentations. It is planned to hold junior registration days along these lines next season in an endeavour to improve the image of the Cricket Club.

The incentive scheme for payment of subscriptions was, as usual, a success. Most members made the most of Other fund raising activities were disappointing, the system. in particular the earlier mentioned raffle. More effort is required from all members in this area if subscriptions are to be retained at a realistic level.

Concluding, the Management Committee cannot be anything but disappointed with the season. However, it does thank sincerely those members who assisted in any way during In particular, a special thanks to our non-playing Chairman of Selectors, Allan Price, for his untiring efforts in a most unrewarding position. Already some assistance has been offered for next season in the preparation of the Aranda wicket. Hopefully this is a sign of better times ahead.

The Committee extends congratulations to the Collowing members who received Club awards for the 1982/83 season (qualifications for averages-half games played, 200 runs or 20 wickets):

> 1st Grade Batting Glen Croker

> > Bowling Dane Moore

2nd Grade Peter Bradley Batting

> Bowling Wayne Boardman

3rd Grade Batting Greg Gill

> Bowling James Holgate

4th Grade Batting Gerry Garrity

> Bowling Gerry Garrity

Club Champion
(Ken Fry Trophy) Gerry Garrity

Most Runs for Club : Warren Blackshaw

Most Wickets for Club : Gerry Garrity

Most Improved : Mark Garrity

Club Sticker : Glenn O'Sullivan

(Peter Rudge Trophy)

Congratulations also to the following members:

Glen Croker - fastest fifty of the season. Russell Rogers
and Steve Marshall - ACT representative team. Sean Michelle
and Jamie Pyke - ACT Under 19 team. Mark Garrity and
Marcus Cosgrave - ACT Under 16 team.

The Committee expresses its gratitude to the following organisations for their efforts and assistance during the season:

The President, Secretary, Treasurer and members of the ACTCA Executive.

Western District Rugby Union Club (Inc)

The Canberra Times and the ABC

Umpires

David Matthews Hon. Secretary for the Management Committee

#### HONORARY TREASURER'S REPORT

The "bottom line" of an Income and Expenditure Account is always critical. Losses can be disastrous and it is imperative even for a non-profit organisation that reasonable surpluses are achieved. It is therefore pleasing to report a surplus of \$776 - one which could be described as reasonable. Some members may consider the amount to be excessive but for a club of some 300 members fielding 27 teams it is hardly that; the amount represents what is aimed at in every aspect of club activity - progress, as distinct from stagnation or even regression.

Because of its healthy financial position, the Management Committee authorised in May 1983 the purchase of \$1900 of equipment for use in 1983/84 in an attempt to avoid rising costs. The benefit of this action should be evidenced in next season's subscription rates.

There are matters in the audited statements which warrant some comment. Concern is expressed at the continual rise in senior affiliation fees to the A.C.T. Cricket Association Inc.. In 1982/83 the amount paid was \$1000 representing an increase of  $66^2/3\%$  over the previous year. It is hoped that the Association looks to bolstering its financial position in the future other than by calling on the resources of district clubs. Reference is also made to the figure of \$135 shown against net competition winnings. Members are informed that entry fee for the Twilight Competition was \$60 while a match fee of \$20 was charged for each of our games. With the runner-up prize money being \$300, the net return was therefore \$160, which put in this context does not make the Twilight Competition as attractive as perhaps many may have The figure of \$135 in the Income and Expenditure also accounts for entry fees of \$15 for the indoor competition and \$10 for the longest throw competition.

Fund raising is one matter which the Management Committee believes requires close attention. The weekly raffle returned \$489 - almost the same as in the previous year. The efforts

of Glenn O'Sullivan and those who assisted him are appreciated by all concerned. However a separate raffle was conducted and this netted \$235. By any standards it was a dismal result and an analysis of tickets sold showed that 90% of sales were by less than 10% of members. This is considered to be unsatisfactory and the Management Committee considers that a more equitable method related to individual subscriptions should be explored next season.

For the grade sides, subscription rates for 1982/83 rose from \$50 to \$65 thus bringing the rates back to the fees of 1976/77, when a levy of \$15 effectively took the rates to that figure. It was inevitable that such a rise should occur and it was particularly noteworthy that members at the Annual General Meeting saw fit to go beyond the outgoing Management Committee's recommendation of \$60. The introduction of a discounted fee for payment prior to the start of the season together with deeming players who had played two matches without payment of their subscription ineligible for further selection, proved successful and for the first time for some years there were no outstanding fees at year end.

Club investment in the past have always been in Building Societies. In May 1983 the Management Committee looked at further avenues of investment with a view to increasing returns without jeopardising security; semi-government loans from time to time have attractive terms as well as being government guaranteed; such investments may increase revenue in the future. The issue of surplus funds is one queried from time to time by members. Over recent years it has been the club's policy to ensure financial soundness by surpluses each In turn, interest derived from investment of these surpluses works to the benefit of members. An arbitrary apportionment of interest received has been that three quarters relates to the grade subscriptions while one quarter relates to age divisions - this apportionment being based on approximate sources of surpluses over the years. Approximately \$660 applies to senior members and has the effect of keeping subscription rates some \$20, (\$10 for non-wage earners), lower than they would otherwise be.

The club continued its support for players chosen in the A.C.T. Under 19 and Under 16 teams. The amount of \$440 represented the total amount that each of the four players was required to contribute personally towards the respective carnivals in Perth and Sydney.

Over the years there has been a close association between our club and Western District Rugby Union Club (Inc.). Our thanks are recorded not merely for the financial assistance received but also for the very many occasions where facilities have been made available. Members are reminded of the sponsorship made available - through the Rugby Club by Beazley and Bruce (A.C.T.) Pty.Ltd. - a name to keep in mind when you are contemplating purchasing a motor vehicle.

Over the course of the year, assistance was given to me by many members. My thanks are extended to David Matthews and Rob Scott for their considerable efforts in this regard.

GERALD GARRITY HON. TREASURER

## WESTERN DISTRICT CRICKET CLUB

# INCOME AND EXPENDITURE ACCOUNT FOR THE 12 MONTHS ENDED 30 APRIL 1983

1982	EXPENDITURE	1983	1982	INCOME	1983
\$		\$	\$		\$
3936	EQUIPMENT	4672	5344	SUBSCRIPTIONS	6130
2204 1732	- Seniors 2153 - Juniors 2519		2205 2821 318	- Seniors 2650 - Juniors 3269 - Fifth Grade 211	
800	FEES TO A.C.T.C.A. Inc.	1252	1225	HIRE OF OVALS	1839
600 200	- Seniors 1000 - Juniors 252	i	1229	- O'Connor/Aranda to A.C.T.C.A. Inc. for Competition	
960	USE OF GROUNDS BY CLUB IN A.C.T.C.A. Inc. COMPETITION	1150	960 265	Use 1150 - Other hire 689	
705	PRINTING ANNUAL REPORT	200	329	DONATIONS	1043
106 303	TROPHIES - Juniors	220	294 35	- Western District Rugby Union Club (Inc.) 1000 - Other 43	
428	NET COST OF ACTIVITIES	731	<u> 585</u>	INTEREST RECEIVABLE	881
352 76	- Presentation Night 509 - Socials 222		736	NET PROCEEDS	724
400	UMPIRES' FEES	500	483 253	- Weekly Raffles 489 - Other 235	
360	DONATIONS TO SCHOOLBOY & JUNIOR REPRESENTATIVE PLAYERS	440	80	NET COMPETITION WINNINGS	135
774	MISCELLANEOUS	811			
298 273 203	- Seniors 331 - Juniors 269 - Fifth Grade 211				
162	SURPLUS FOR YEAR TRANSFERRED TO ACCUMULATED FUNDS	776		•	
\$8299		\$10752	\$8299		\$10752

# BALANCE SHEET AS AT 30 APRIL 1983 WESTERN DISTRICT CRICKET CLUB

	1			- 13b -	
1983	S	6351		5739	\$12090
ASSETS		INVESTMENTS	Canberra Permanent Building Society 2624 Civic Co-operative Permanent Society Ltd., Jamison Centre	CURRENT ASSETS  Bank - National Australia Bank  Equipment (at valuation & cost) (NOTE 1)  Cricket Gear - Seniors 2074  - Juniors 2385 Other equipment (NOTE 2) 780  Subscriptions in Arrears -  Leas: Provision for doubtful debts  Interest accrued	
1982	4A	4970	2480	2075 2075 2105 445 445 (15)	\$10239
1983	₩	10712		1378	\$12090
			9836	9936 9936 776 753 585	
LIABILITIES		ACCUMULATED FUNDS	Balance as at 1/5/82 Over provision of expenses for year ended 30/4/81	Less: cost of laying concrete - Aranda oval, from over provision.  Add: surplus for year CURRENT LIABILITIES A.C.T.C.A. Inc. Accrued expenses	
1982	V)	9866	9784	10284 510 9774 162 303	\$10239

Unused equipment has been valued at cost; a conservative value has been placed on used equipment. Includes caps (\$190), hats (\$367) and other equipment (\$223). NOTE: (1). (2)

# AUDITOR'S REPORT

I have examined the above Balance Sheet as at 30 April 1983, and the attached Income and Expenditure Account for the 12 months then ended, for the Western District Cricket Club. In my opinion the accounts are properly drawn up so as to exhibit a true and fair view of the financial position Milionhalk of the club according to the information at my disposal and the explanations given to me.

M.H. Marshall A.A.S.A., B.A. Honorary Auditor

28 June 1983

### JUNIOR COMMITTEE REPORT

Once again it is pleasing to report that the Juniors had an enjoyable and successful season in 1982-83. Twenty teams were entered in the competition, one in each first division with the exception of the Under 15s. Of these, eleven reached the semi-finals (including all five Under 12 teams), six the finals and four won premierships. Congratulations to the successful Invalists and premiers: Under 15 (2), Under 14 (3), Under 12(1) and Under 11 (1). In addition the Club (61.13%) finished narrowly yet again second in the Club Championships in Ginninderra (63.67%).

A good number of boys gained selection in A.C.T.
Representative Teams. Mark Garrity and Marcus Cosgrove
represented the A.C.T. in the Commonwealth Bank Under 16
years Cricket Championships in Sydney; Donald Pyke and
Bill Simotas gained selection in the Under 14 team, while
no fewer than nine Under 12 boys made the squad and played
representative games: Stephen Mendl, Luke Healy, Sam Colman,
Mark Cooney, Greg Dawson, Jason O'Dea, Mathew Johnson, Nick
Flynn and Adam Jones. The first four boys also represented
the A.C.T. in the Primary Schools' Carnival held in Adelaide.
Mark Garrity was named a National Mutual "Cricketer of the
Week" and Stephen Mendl received a National Mutual Encouragement Award.

The number of enrolments continued to be heavy again this year despite predictions that they were likely to fall. There was a large increase in the number of applications in the Under 12 age-group and many late applications had to be rejected because the size of the competition is determined by the number of grounds available. At least two and possibly three more Under 12 teams could have been fielded by the Club had grounds been available. As it was the Under 10s were relegated to Saturday afternoons between 2-5pm. This change proved very popular with parents some of whom have to work on Saturday morning or are engaged in other sporting activities. The new playing regulations for Under 10s using portable wickets placed 18 yards apart proved most satisfactory. Next season the number of overs to be bowled by each side will be increased from 20 to 25 or even higher.

Next season the Association's Junior Committee is setting up a new type of competition for the Under 16s in order to facilitate selection for the A.C.T. representative side which contests the National titles held next in Brisbane. Four zones will be designated and zone teams will play a round robin competition on turf on Sundays in October-November. ambitious scheme depends very much on the co-operation of senior players, who will act as coaches and selectors, as well as the clubs which will be asked to make grounds and pitches available. I earnestly seek the Club's full co-operation on this matter as all will realise that a healthy grade competition depends very much on a successful junior structure. Furthermore, I need hardly point out that the A.C.T's entry into Sheffield Shield in the future will not be effected unless the A.C.T. Cricket Association demonstrates that it is doing something positive to develop and maintain a vibrant junior organisation. It is is as simple as that.

As usual a number of parents and willing workers ensured that the Club functioned smoothly and that the boys had both an instructive and enjoyable experience of the game. I wish to thank the many parents who acted as drivers and scorers, especially Tim Healy (Kit Officer), Arthur Skimin (Registrar), Gerry Garrity (Under 8 Nursery) and the co-ordinators, coaches and managers: Eddie Wheeler, Ken Wells, Sid Smith, Derek Gould, Time Healy, Frank Pyke, Ajay Mehta, Vic Cristofani, Ian Briggs, Jeff Siggs, Alan Thomas, Hilton Kobus and Colin Thompson who all did a most commendable job.

This is my last report as Chairman of the Junior Committee, at least for the time being. As secretary of the Junior Committee of the A.C.T.C.A. facing an ever expanding competition, together with umpiring commitments, I feel I am no longer able to do justice to the Club position. I have very much enjoyed my association with Western District Cricket Club over the years and I wish my successor, Sid Smith, all the best and look forward to working with him through the A.C.T.C.A. Junior Committee.

### LIFE MEMBERSHIP - G.P. GARRITY

Two years ago the then Management Committee considered the matter of life membership of the Club and decided that this prestigious award should be made for the first occasion.

The current Management Committee has now agreed that another member is worthy of receiving the award. That member is Gerald Garrity. To receive consideration for life membership, a member must have contributed significantly for many years in the affairs of the Club.

There can be no denying that Gerry Garrity
meets the criteria. As can be seen from perusal of
this Annual Report, Gerry has been involved in the
administration of the Club for several years. In
addition he has been Secretary of the ACT Cricket
Association and involved in other Association matters.
As well as the evident involvement, Gerry has been a
willing worker in many other spheres. Not the least
of these is his running of a cricket nursery for youngsters
prior to their playing junior cricket.

The Management Committee unanimously supports the following motion to be moved "that Mr G.P. Garrity be made a life member of this Club". Support for this motion and its adoption will ensure that Gerry is suitably rewarded for his past endeavours.

### FIRST GRADE REPORT

A veritable thrashing in the semi-final saw a dismal end to what had been an enjoyable and successful season. For the fourth season in a row Wests made the four without being able to pull off the final. We trailed the leaders for much of the year after a slow (and rain affected - despite the drought) beginning but finally secured third place with a strong win in the last roung.

I should add that I thought the decision to hold the semi-final at O'Connor a poor one and the inequality in batting conditions for the competing teams bore testament to this.

I have no doubts that the side needs a few key players if it is to regain the success it has enjoyed in former years. It desperately needs at least one opening bowler. The medium-pace attack tried hard and in the end analysis was the reason we at least made the finals but we so often screamed out for the necessary firepower to dictate terms to the opposition. Just as importantly we lacked any sort of spinner after the retirement of Kevin Flaherty early in the season and this was a continual problem.

More pressing than the above however is the need for at least a couple of batsmen who can provide the maturity and consistency necessary to give the side a regular chance of putting a winning score on the board. The batting this season with rare exceptions was a disappointment to all -only four players just managing to top 200 runs tells a story in itself. Matching the above problems is the obvious need for the side to "get hungry" to win again and in this regard a change of captaincy might well have a positive effect.

Two of the finds for the year were no youngsters but brought an enthusiasm which was an example to all. Gary Wall as wicketkeeper and middle order batsman fitted in easily with his new club and never stopped giving one hundred percent. Similarly, Keith Ross was soon at home with his extremely useful medium pacers, with accuracy and clever variation netting him 22 wickets.

Of the batsmen Russell Rogers was only available as representative commitments would allow. His highlight was a fine 92 against City. Neil Davidson couldn't repeat his previous season's success although he looked threatening on so many occasions. Glen Croker looked a million dollars early in the season but like so many others consistency proved to be so elusive.

Jamie Pyke didn't have a bac year and shouldered a lot of responsibility in the opening position. I believe his long term future belongs at four or five where his propensity to play shots may not prove so terminal. Glen Jones was another who suffered from inconsistency and whose form fluctuated wildly. He also needs to concentrate far more on his running between the wickets and his fielding.

I felt sorry for Steve Marshall who couldn't repeat the magic touch of the previous season and struggled for form after representing the A.C.T. earlier in the season.

Ashley Weston was a new player who had problems adapting to Canberra conditions and needs to iron out some technical problems before the runs will come regularly. His 51 against Ginninderra was a class knock and he consistently fielded well.

Craig Henderson burst onto the first grade scene with a hard hitting 91 in the last round - hopefully a sign of things to come.

Of the bowlers Andy Macdonald suffered through unavailability but still managed twenty wickets. His lack of control was a continual problem particularly when our ability to make runs was always suspect. He still managed to produce the odd unplayable ball, however. Keith Ross bowled a consistent line and length and deserved his success - his efforts under some very trying conditions were an inspiration. Glen Croker and to a lesser extent Jamie Pyke were useful medium pacers at times and both should develop in this role.

Sean Michelle was disappointing and played most of the season in seconds after a promising previous season.

He was troubled with back worries and urgently needs to correct some delivery problems if he is to proceed.

With the mooted retirement of some players and the loss of others during the last two seasons, Wests stands on the verge of a new era. Unless a number of problems can be overcome, it would take an optimist to say success will be forthcoming. While first grade attendance at practice has been good, practice organisation, facilities and equipment are appalling. This problem appeared to be largely ignored for the second year in a row although Neil Davidson and Dave Matthews obviously made personal attempts to rectify the situation. Another crucial problem facing the club centres on the lack of coaching - particularly as this relates to the younger players.

In closing I would like to record my appreciation to all players for their support and friendship during the season particularly to Russell Rogers for his support as Vice-Captain. He once again prepared O'Connor Oval virtually single handed. My thanks also to Alan Price who as Chairman of Selectors maintained a welcome objectivity and did so much behind the scenes. For my own part, in my 7th year as Captain of Wests, I found the lack of communication from official level totally inexplicable and a dramatic improvement in this area is a prerequisite if anyone is to achieve success in the future.

Dene Moore

FIRST GRADE

### Batting and Fielding

	Mtchs	Inngs	N.O.	H.S.	Runs	Avge	50	100	Ctchs
Anderson, N	5	6	1	24*	58	11.60		werke	1
Bradley, P	4	4		19	45	11.25	юча		1
Croker, G	8	9	\	51	212	23.56	1		2
Davidson, N	13	12	2	43	221	22.10			5
Flaherty, K	4	3	2	12*	22	22.00	<b>=</b> 40	nterest.	1
Henderson, C	2	2	Pers	91	91	45.50	1	***	
Jones, G	9	10		53	195	19.50	1	_	2
Macdonald, A	9	8	2	10	23	3.83		-	1.
Marshall, S	11	11		30	152	13.82		eus.	2
Mathas, M	3	3	-	24	28	9.33	-	_	2
Michelle, S	7	6	2	33	69	17.25			1
Mills, M	1	1		4	4	4.00	-		<b>-</b>
Moore, D	12	11	5	20*	62	10.17	-		5
Pyke, J	11	12	1	41	222	20.18	_	<del></del> -	6
Rogers, R	9	8	1	92	183	26.14	1	<del>220</del> 0	8
Ross, K	10	9	1	19	68	8.50	***	_	1
Wall, G **	13	12	1	5 7	216	19.64	2		26
Weston, A	12	11	-	51	158	14.36	1	, 18 <u>44</u>	1

<sup>\*</sup> Not out

### Partnership Records

7th wicket

### 121 vs A.N.U. 5/3/83 G. Wall 57, C. Henderson 54

### Batting Average

G. Croker 212 runs @ 23.56

R. Rogers,92; C. Henderson, 91;
G. Wall, 57,53; G. Croker, 51; Best Batting:

A. Weston, 51

<sup>1</sup> Stumping

### FIRST GRADE

### Bowling

	Overs	Mdns	Runs	Wkts	Ave	В/В	5WI
Anderson, N	5	3	8	-	B-1-2	-	-
Croker, G	64	15	178	10	17.80	4/20	- 1
Davidson, N	38	13	107	2	53.50	1/25	_
Flaherty, K	49	16	114	5	22.80	2/28	
Jones, G	2	1	4	-	40m	No.	g-ui
Macdonald, A	166.4	43	417	20	20.85	4/35	-
Marshall, S	2	1	7	1	7.00	1/7	
Michelle, S	68.5	28	105	7	15.00	2/9	***
Moore, D	294.5	131	439	32	13.40	5/18	2
Pyke, J	45	9	119	7	17.00	4.26	***
Ross, K	180.1	65	313	22	14.23	5/21	2

Bowling Average:

D. Moore 32 wkts @ 13.40

Best Bowling:

D. Moore, 5/18, 5/25; K. Ross, 5/21, 5/28

### SECOND GRADE REPORT

As the captain who "steered" the second grade side to a position outside the final four for the first time since the 1973-74 season, I obviously have to come up with some answers as to why.

Maybe it was because we had twenty six (26) players play for the side.

Maybe it was because we only managed in excess of 200 runs three times.

Maybe it was because our opening bowlers very seldom made early breakthroughs to put the pressure on the opposing side.

Maybe it was because we didn't have any specialist spin bowlers - with due respects to those spinners used they were picked mainly as batsmen.

Maybe it was because our fielding let us down particularly in the catching area.

It seems to me, maybe we weren't good enough.

During the season the side recorded 5 wins, 2 draws and 5 lasses. Two of these losses were registered with the opposition passing our total with nine wickets down.

We started the season fairly well with a draw against Woden in a rain affected match (Glen Croker 44 and 3 wickets for 30 runs) where we had the best of the play, a loss to Easts followed, after they sneaked past us with one wicket remaining (Glen Croker scoring 54 out of our total of 100) and then followed two big wins against Queanbeyan (Peter Bradley 72, Glen Jones 58) and South Woden (Peter Bradley 55 and Michael Mills in his first 2nd grade game 54 not out).

Even at this early stage of the season it was apparent that we were lacking in the bowling department, as we should have recorded four wins, not two, with the opportunities we were given.

Our fifth game against Ginninderra really proved that point, when after being six wickets for 55 runs they totalled 187, a total we found far too many.

Eastern Suburbs, the eventual premiers, was our next game in round six, when, after being 2-60 (Stewart Peacock 31, Rob Bradley 37) we succumbed to be all out 137. Easts totalled 4-220 - quite a hiding.

The following game, a one day affair against Norths, saw the return to cricket of the previous season's opening bowler, Steve Bryant who put us on the road to victory with his 28 over stint in which he captured 2-50. Steve hasn't been seen since! This welcome win was secured primarily by the efforts of Darryl Quinlivan, a newcomer who took 3-31 off 15 overs, Michael Mills 66 not out on his favourite O'Connor Oval track and another newcomer Mark Garrity who was impressive in scoring 31.

The absence of six or seven regular 2nd grade players for the next match against City didn't help the cause and the final ball of the match saw Wests just averting an outright loss.

Three of our last four games resulted in a one run loss (off the last ball) to Woden (main contributor Wayne Boardman 40 not out and 7-35), a one run win against Norths (Bob Pritchard 4-24, Darryl Quinlivan 32 and Michael Mills, getting out after our win, 22) and in the last match of the season, a three run win over ANU. (Dave Matthews showing a welcome return to form, 53, Mark Garrity 42 and Sean Michelle 4 wickets for 34 runs).

In the other match against Weston Creek, Warren Blackshaw showed the type of potential he has, with an impressive 58 not out on the 1st day before rain washed out play for all of the second.

Looking back on the season, no one tried harder or was more unlucky than "Bruiser" Karey. If a catch went down it was usually off his bowling. Thanks for all your efforts, "Bruise".

The old timer, Frank Jones batted and bowled well on occasions and his valued judgement on the state of the game was appreciated. Frank had a big year by recording his first duck in 10 seasons and not breaking his jock strap once.

Both Peter Bradley and Stewart Peacock, the only batsmen to score in excess of 200 runs for the season, have the ability to score a lot more, but were guilty of throwing their digs away too often after being set.

Newcomer Darryl Quinlivan showed guts and determination whether batting, bowling or fielding and will benefit from last season.

Also to benefit will be the youngsters, Michael Mills and Mark Garrity who displayed their potential on a number of occasions with the bat. Both have ideal temperaments and big things can be expected from them in the not too distant future.

I'm sure both Bob Pritchard and Craig Henderson would have been disappointed with their seasons but if its any consolation you are not the first batsmen who have failed to come to grips with Canberra tracks in the first year. Chosen primarily as batsmen both were asked during the season to don the wicketkeeping gloves and when not doing that, probably bowl first or second change. Certainly allowed you to settle in, didn't it?

Warren Blackshaw and Rob Bradley, both only played a handful of games, but showed enough to suggest that should they play more often higher rewards are in store.

Dave Matthews, who was dropped to third grade, due in the main, to the rather onerous duties he performs as Club Secretary, bounced back with a sweetly compiled 53 in the last game of the season. Dave, whose timing was perfect in both senses, announced his retirement from the game after his innings. Thanks for all your help, old mate, you made it a whole lot easier.

Finally, thanks to all those players who filled in or were rewarded with selection in firsts. We didn't have much success but I enjoyed the season and I hope everyone who played felt the same.

WAYNE BOARDMAN

### SECOND GRADE

## Batting and Fielding

	Mtchs	Inngs	ИО	Runs	HS	Avge	50s	100s	Cts	Stps
<del>-</del>					77.6	00.00				_
Beauchamp,G	3	4	3	22		22.00	_	•••		_
Blackshaw,W	4	5	1	104	58*	26.00	1	***	1	<del>-</del> .
Boardman,W	11	9	2	105	40*	15.00	-			
Bradley,P	. 8	8	<b></b> .	218	72	27.25	2	-	4	
Bradley,R	6	7		78	37	11.14	-	-	2	-
Bryant,S	1	DID NO	T BA	ΥT					1	
Croker,G	2	21	-	98	54	49.00	1		_	÷
Francis,J	2	2	1	13	12*	13.00		-	1	1
Garrity,M	7	8		142	42	17.75	-	-	4	-
Henderson,C	9	9	_	81	23	9.00			5	2
Holgate,J	1	. 1	-	0	0	0.00	-	-	-	-
Hudson,M	1	2	1	0	0*	0.00	·	-	1	-
Jones,F	10	12	3	153	26	17.00	-	-	4	
Jones,G	2	2	-	58	58	29.00	1	-	1	-
Karey,B	10	8	5	24	12*	8.00		-	1	-
Mathas,M	1	1	<b></b>	9	9	9.00	-	-	-	
Matthews,D	9	10	-	113	53	11.30	1	<b>-</b>	4	-
Michelle,S	3	3	1	9	6*	4.50	_	-	2	
Mills,M	7	7	2	164	60*	32.80	2	mind .	2	
Peacock,R	2	3	1	35	32*	17.50	· -	-	1.	-
Peacock,S	12	13	-	219	36	16.85	-	_	6	
Pritchard,R	7	8	1	72	21	10.28	-	-	5	
Quinlivan,D	6	7		133	32	19.00		-	2	<b>1</b>
Reed,P	4	5	-	41	24	8.20		-	1	-
Ross, K	3	2	-	5	4	2.50		Print.	2	<b></b>
Wyche,G	1	1	-	0	0	0.00	) -	_	-	

Batting Average: P. Bradley 218 runs @ 27.25

Best Batting: P. Bradley 72,55; M. Mills 54\*,60\*;

W. Blackshaw 58; G. Croker 54; G. Jones 58; D. Matthews 53.

BOWLING

—	Overs	Mdns	Runs	Wkts	Ave	В/В	BWI
Beauchamp, G	27	6	73	2	36.50	1/22	
Boardman,W	168	56	303	21	14.43	7/34	1
Bradley,P	2	_	16	-		***	
Bryant,S	28	12	50	2	25.00	2/50	
Croker,G	24	10	40	4 m	10.00	3/30	<b></b>
Garrity,M	21	2	64	3	21.33	2/31	
Henderson,C	12	3	32	1	32.00	1/15	-
Holgate,J	6	_	26	0	_	_	_
Hudson,M	10	_	29	1	29.00	1/29	_
Jones,F	78.4	5	294	11	26.72	2/13	Piet
Karey,B	136	35	259	14	18.50	3/25	ence.
Michelle,S	39.1	13	85	5	17.00	4/34	
Mills,M	1	1	_		-	_	
Peacock,R	16		45	1	45.00	1/30	
Peacock,S	67.2	7	263	10	26.30	3/50	_
Pritchard,R	27	3	82	5	16.40	4/24	
Quinlivan,D	59	13	131	3	43.67	3/31	-
Ross,K	52	18	82	6	13.67	3/23	_

Bowling Average : W. Boardman 21 wickets @ 14.43

Best Bowling : W. Boardman 7/34

#### 3RD GRADE REPORT

The 1982/83 cricket season is over and it is now time to reflect on the fortunes and successes of Wests 3rd grade .... Now that that is done we need to examine the misfortune and lack of success. Unfortunately, this will take longer.

Firstly, some general statistics. Of 12 games played we won 3 on the first innings (one of which we subsequently lost outright), drew 1, tied 1 on the first innings and lost 7 on the first innings. Certainly not a memorable year.

It is customary in reports such as these to mention a few outstanding individual performances during the year. However, in reviewing the season, I find that there is very little to report. No bowler qualified for the averages (20 wickets) and only one batsman qualified with over 200 runs (and half of those were scored in the last game). There were several outstanding performances during the season, however, there was no consistency. And a team with consistent players is better than one that can occasionally put on some outstanding performances.

It is one thing to talk about our lack of success, and it is another thing to analyse it and learn from it. I think a significant factor in our poor results can be put down to a lack of dedication and commitment to the game, the team and the Club from the players. There were a couple of factors contributing to this.

Firstly, a lack of valuable practice. Although most of us want to practise twice a week, I think it fair to say that very few of us (myself included) really put in much effort. In fact, we wasted our time at practice. While many will argue that the reason for not putting in much effort at practice is due to their poor organisation and control, very few realise that it is up to each and every individual to make the effort to do something about it.

Another problem that plagued thirds this year was selections. Don't get me wrong, I am not criticising the selectors, merely making some observations. In an effort to

stabilise fourth grade this year, not all third grade selections were made on the merits of players. This resulted in some players playing in thirds when they would not normally have been considered for fourths. I believe this contributed to a lack of motivation among our established players (if we really had any of those). Why put in a lot of effort to consolidate a place in third grade when the standard of the team has been lowered by these "default" selections. I understand that this move by the selectors was an attempt to correct the problems of fourth grade in previous seasons. However, I believe the selectors should take into account the experiences gained this season in determining selection policies for next season.

Another reason (or excuse) given for poor performances has been the state of the Aranda wicket. In my opinion, this is more a state of mind than anything else. While acknowledging that there was generally a lack of preparation of the Aranda wicket this season, and on occasions it did look woeful, it did not play too many unusual tricks. I believe that many players were using this as an excuse for their own lack of concentration and dedication.

While on the subject of the Aranda wicket, all players using it should make an effort to provide a reasonable playing surface. As far as I am aware too few players lent a helping hand this season. Next season I would like to see a roster system introduced for wicket preparation. This should be combined with advice from senior, more experienced club members as to what course this preparation should take.

Now a word on our fielding. . As with our batting and bowling, there were some brilliant saves and catches, however, these were too inconsistent to be of any great value. Again this is due to a lack of commitment. What all players must realise is that fielding is a most important aspect of the game of cricket. A player's involvement in the game does not finish when he has had his bat or his bowl, but continues from the time the first ball is bowled until the last wicket has fallen.

Finally, I think third grade suffered when we lost our regular captain, Barry Peacock, after only four games.

Barry has provided a great deal of experience and skill over the past few seasons. Not only did he have the respect of all his players but he was a reliable middle order batsman and a very successful leg spin bowler.

I would like to thank all players who played thirds during my reign as captain for their valued support. I recognise that I still have a lot to learn as a captain but I have benefitted greatly from the season.

I look forward to seeing all players return next season with a more dedicated approach to their game and their Club.

Rob Scott

- 31 -THIRD GRADE

## Batting and Fielding

_	Mtchs	Inngs	ИО	Runs	HS	Avge	50s	100s	Cths	Stm
Barnard,N	6	8	-	24	10	3.00			Trans.	
Beauchamp,G	5	5	1	80	25	20.00	_		3	-
Bennett,T	1	1	_	0	0			lerer.	1	_
Blackshaw,W	. 2	3	_	164	98	54.67	1	<b></b>	3	_
Bradley,R	2	2	_	21	1.4	10.50		_	-	
Clark,J	1	2	_	17	9	8.50	_		***	Name .
Clout,J	1	2	2	7	6				_	_
Cosgrave,M	5	7	_	70	22	10.00	_		1	litera .
Cosgrave,J	1	1	_	0	0	_		_	_	_
Cook,P	1.	2		27		13.50		-	_	_
Dale,R	2	3	2	1	1,		_	_	1	_
Driscoll,T	1	2	_	16	16	8.00	-	_	1	_
Francis,J	1	1		1	1	1.00	_	_	.L.	_
Garrity,M	4	4	1	94	49	31.33		_	1	
Gill,G	9	12	_	207	101	17.25	_	1	5	_
Holgate,J	7	8	2	106	45*	17.67	-		5	_
Hudson,M	2	2	1	4	4*	4.00	_	_	1	
King,D	2	2	1	24	24*	24.00	_		2	
Mathas,M	1	1		45	45	45.00	_	_		-
Matthews,D	2	2		37	26	18.50		_		P+4
May,H	2	3	1	4	3	2.00			2	•••
McKinnon,G	8	11	2	112	27	12.44	<del></del> -		1	-
Mehta,A	1	1		8	8	8.00	_		1	<u></u>
Mills,M	3	3	1	31	23	15.50	_	_		
O'Donnell,T	1	1		2	2	2.00	<del></del>	_	•	_
O'Sullivan,G	11	14		129	31	9.21	_		3	_
Peacock,B	4	4	_	108	56	27.00	1		2	***
Peacock,R	10	11		144	38	13.09	_		7	***
Quinlivan,D	5	7	1	109	77	18.17	1		1	
Scott,D	5	6	-	34	15	5.67	_ _	<b></b>		•••
Scott,R	9	10	4	78	22*	13.00	_	~	5	
Small,R	1.	2		59	45	24.50	****	-	1.	_
Taylor, N	3	5	10-	14	6	2.80	_	_	1	
Taylor,J	4	6	1	12	4	2.40	_	_	1	w-a
Wallace,S	9	10	-	112	40	11.20	_	_	5	
									-	

<sup>\*</sup> Not out

## Partnership Records

3rd Wicket 85 v ANU 5/3/83 M. Mathas 43, G. Gill 37 8th Wicket 70 v South Woden 20/11/82 J. Holgate 28, S. Wallace 40

#### Batting Average

G. Gill 207 runs at 17.25

### Best Batting

G. Gill 101, W. Blackshaw 98, D. Quinlivan 77, B. Peacock 56.

#### BOWLING

•	Overs	Mdns	Runs	Wkts	Ave	В/В	swI	
	53	12	149	5	29.80	4/37		
Beauchamp, G		12			_	·	: ⊷	
Bennett,T	3	-	7	<b></b>	_			
Blackshaw,W	2	-	12	_	-		-	
Clout,J	15	4	34	3	11.33		_	
Cook,P	4.5	2	3	1	3.00	1/3	-	
Dale,R	1	-	3	-	-	_	-	
Holgate,J	58.3	10	129	14		6/12	1	
Hudson, M	33	11	66	2	33.00			
King,D	27	4	88	4	22.00			
May,H	21	7	49	1		1/32	-	
McKinnon, G	82	20	217	7	31.00	4/39	-	
Mills,M	3	_	7	-	<del>-</del>		-	
O'Donnell,T	4	2	5	-	-		-	
O'Sullivan,G	71	5	236	9	26.22	3/42		
Peacock,B	37.1	3	102	11	9.27	7 5/18	1	
Peacock,R	134	31.	358	13	27.54	4/33	-	
Quinlivan,D	32	2	120	3	40.00	2/25	·	
Scott,R	120.2	30	314	16	19.63	3 5/68	1	
Taylor,J	7	1	22	1	22.0	0 1/16	<b>-</b>	
	26.3	4	104	6	17.3	3 2/16	-	
Wallace,S	26.3	.4	104	O	1/.5.	<i>J 27</i> 10		

Bowling Average: J. Holgate 14 wickets @ 9.21 Best Bowling: J. Holgate 6/12, B. Peacock 5/18,

R. Scott 5/68.

#### FOURTH GRADE REPORT

The 1982/83 season was our best for three or four years. Of the 12 matches played we won eight, lost three and drew one. We finished third in the competition, but were defeated in the semi-final by ANU, the eventual premiers. We began the season well but were not able to continue the same success into the second half of the competition.

The batting featured two notable centuries; Warren Blackshaw (129 n.o.) and Gerry Garrity (107). The third wicket partnership was broken twice, with the record now at 112, held by Warren Blackshaw (46) and Gerry Garrity (63) (V. South Woden 20/11/82). Carrity took out the average, but his form fell away as the season progressed. Marcus Cosgrave shows a lot of promise, but often did not carry on after a good start. John Graham failed to realise his potential this year. The younger players turned in their best performances when one batsman was holding firm at the other end. Success seemed to breed confidence. This confirms that some of the best training takes place under match conditions. advantages of having mature players mixed with younger players are many.

Gerry Garrity shone in the bowling capturing 48 wickets at 8.46 runs. He held up an end for long periods, and was very economical. Ron Reeson with steady consistency and good length showed again that a slowing down in speed need not be a liability. Twenty seven wickets proves this. Don King bowled with good speed, but somehow wasn't able to capture wickets. Geoff McKinnon, after a great season last year, disappointed both himself and us. Geoff Moore didn't really settle down, though he tried hard. He seemed to be coming good at the end of the season. Peter Cook has some promise as a spinner and found some success when used.

The Aranda practice wicket does not allow fast bowlers to really stretch out. Bowlers, when provided with

better approaches in the games, do not seem to be able to control the extra speed they find they have. Good fast bowlers thrive on plenty of hard work at the nets. I believe this needs attention.

David Small did a creditable job behind the wickets, with Marcus Cosgrave standing by as a good deputy. Fielding, though not up to first grade standard, improved this year with some extra practice. Some of the surfaces we field on don't encourage us to develop in this area. We will never forget the catch taken by Ajay Mehta at short square leg when he was asleep! The fielding award undoubtedly goes to Geoff Moore who threw himself onto any ball which came near him, with seeming little thought for personal safety.

The value of having another player with plenty of experience is seen in our better showing this year, and I believe all players have improved to some degree as a result. Thankyou Gerry. I encourage the Club to pursue this policy more, particularly in 3rd and 4th grades.

I believe younger players would benefit greatly from some real coaching each week. Older players can get by with accumulated experience, but our young players need to develop better habits and techniques.

In closing may I express real appreciation to all members of the team who gave good support and made the season one of great enjoyment.

Ron Reeson

## - 35 -FOURTH GRADE

## Batting and Fielding

~	Mtchs	Inngs	NO	Runs	HS	Ave	50s	100s	Cts	Stp
Barnard, N	4	4	Pinel	83	53	20.75	1		7	
Beauchamp, G	3	4	w.,	44	23	11.00	_ .L	 1	1	_
Blackshaw,W	1	1.	1	129	129		_	1 1	-	-
Clark,J	6	9		83	26	9.22	_	<u>-</u>	-	
Cook,P	11	13	1	86	22	7.17		_	2	~
Cosgrave,M	8	12	1	279	70	25.36	1		6 6	-
Dale,R	5	4	2	12	9	6.00	- <del>-</del>	-	2	3
Garrity,G	13	15	. 1	381	107	27.21	2	1	2 . 8	w-a
Gill,G	1	1		6	6	6.00	_	<u></u>	1	-
Graham,,,	11	13	_	150	34	11.54		_	2	-
Hudson,M	6	4	1	10	9	3.33	_	_	4	-
King.D	7	8	3	84		16.80	_		4	
McKinnon,G	4	6	_	36	17	6.0	_	_	-	-
Mathas,M	1	2		82	76	41.00	1.	_	1	-
May,H	2	1	_	1	1	1.00	_	_	<u>-</u>	
Mehta,A	1.1	14	3	171		15.55		_	2	_
Moore,G	11	16	3	193		14.85	-	-	9	_
O'Donnell,T	1	1	1	9	9*	_	_		1	_
Quinlivan,D	1.	. 1	-	9	9	9.00		_	<u></u>	_
Reeson,R	12	15	1	145	32	10.36		_	4	_
Scott,D	2	2	_	18	18	9.00	-	Press.	-	
Scott,R	2	2	1	18	15*	18.00	_	_	2	
Small,D	10	11	_	123		11.18	_	_	5	5
Taylor,J	2	1	_	0					1	, -
Taylor, N	8	12	2	136	32	13.60	_		4	_

Partnership Record : 3rd wicket 112 vs S. Woden 20/11/82 W. Blackshaw 46, G. Garrity 63.

G. Garrity 381 runs @ 27.21 Batting Average:

Best Batting: W. Blackshaw 129\*; G. Garrity 107,
63,62; M. Mathas 76; M. Cosgrave 70;

N. Barnard 53.

#### FOURTH GRADE

#### Bowling

	Overs	Mdns	Runs	Wkts	Ave	в/в	SWI	
*·								
Beauchamp, G	26	2	110	4	27.50	3/45		
Cook,P	44.3	5	126	11	11.45	4/50		
Garrity,G	251.2	99	406	48	8.46	8/37	3	
Graham, J	13	3	41	5	8.20	3/20	-	
Hudson,M	64	23	126	9	14.00	5/20	1	
King,D	111	32	282	9	31.33	4/44	-	
McKinnon,G	38	14	86	3	28.67	3/19	-	
Mathas,M	5	1	13	-	-		-	
May,H	13	2	44	1	44.00	1/33	_	
Mehta,A	34	8	86	ļ	86.00	1/6	desid	
Moore,G	112	29	278	13	21.38	3/34	-	
O'Donnell,T	2	2	, <del>`-</del>	-	-	-		
Reeson,R	139.1	39	281	27	10.41	5/28	1	
Scott,R	19.3	8	30	2	15.00	1/14	-	
Small,D	1	-	1		· –	Baltin	-	,
Taylor,J	4	1	7	-		-	-	
Taylor,N	6	2	8	_	-	-	-	•

Bowling Average:

G. Garrity 48 wickets @ 8.46

Best Bowling:

G. Garrity 8/37, 6/25, 6/33;
M. Hudson 5/20; R. Reeson 5/28.

# - 37 - CLUB CAREER PERFORMANCES

## 1969/70 TO 1982/83

Batting	Mtchs	Inngs	МО	Runs	HS	Avge	50	100	Ctchs	Stp
Adams,J Allan,R Anderson,B Anderson,N Andrews,B Ayre,D Ayre,S	5 78 12 18 63 11	8 81 16 19 71 12	0 16 2 2 7 1 2	24 1297 151 284 1231 206 48	11 106* 34* 95* 99 56	3.00 19.95 10.79 16.71 19.23 18.73 4.00	3 - 2 4 1	1	1 36 3 6 14 6	
Balkin, K Barnard, N Beacroft, G Berling, A Beauchamp, G Bennett, T Bice, J Blackshaw, W Blundell, G Boardman, W Boden, N Bonnett, P Bradley, P Bradley, R Brady, M Brazell, K Bryant, S Bubke, R Buckley, L Bush, G	53 18 74 12 161 43 43 57 59 27 86 75 46 13 52 54 12 28 27	59 23 83 13 206 1 48 54 76 50 30 112 88 53 7 70 52 14 37 24	13 2 18 0 35 5 10 13 13 3 11 8 7 2 5 23 1 8 5	850 288 1715 217 1988 0 502 996 763 565 395 1621 1469 885 63 863 324 218 489 353	72 70 135* 66 70 58 129* 49 67 49 100* 82 101 28 55 32* 53 43* 56*	18.48 13.71 26.38 16.69 11.62 11.67 22.64 12.11 15.27 14.63 16.05 18.36 19.24 12.60 13.28 11.17 16.77 16.86 18.58	4 2 7 1 2 - 1 4 - 1 - 4 7 2 - 1 - 1 - 2		23 30 7 2 1 37 20 42 20 13 36 27 15 - 23 21 5 10 15	10
Campbell,T Canney,I Cannon,J Carney,D Casey,A Chibnall,R Clark,J Clout,J Cook,P Cosgrave,M Cosgrave,J Cristofani,V Crockart,D Croker,G Cullen,M	8 70 1 34 81 43 28 1 20 13 1 41 22 100 9	8 88 2 44 75 51 36 2 24 19 1 48 27 114 6	4 4 1 10 23 4 3 2 3 1 9 0 10 2	28 1642 0 531 353 576 312 7 195 349 0 909 452 2047 79	75 87	7.00 19.55 0.00 15.62 6.79 12.26 9.45 - 9.29 19.39 - 23.31 16.74 20.64 19.75	5 - 1 - 2 - - 1 - 5 2 7	1	2 42 - 9 108 10 12 - 7 7 - 13 6 48 3	8 3
Dale,R Davidson,N Delaney,E Dockrill,B Dowling,P Doyle,J Driscoll,D Driscoll,M Driscoll,T Dunstan,D Dunstone,C	7 26 27 64 10 1 27 5 39 18	7 25 31 64 12 1 30 6 39 26 15	4 3 2 2 2 3 1 5 1 10 3 0	13 581 396 377 47 2 333 38 520 218 225	54* 32* 16 2* 40 17 68 34	4.33 26.41 13.66 8.98 5.22 - 13.32 7.60 18.93 9.48 15.00	3 1 3 3	-	3 16 11 12 2 1 19 1 56 -	19 - 22

	Mtchs	Inngs		Runs	HS	Avge	50	100	Ctchs	Stp
and the second s					· · · · · · · ·				27	
Eade,F Evans,G	35 40 24	54 48 34	1 11 3	696 478 303	55 86 41	13.13 12.92 9.77	2 1 -	-	11 13	-
Falconer,D Fisher,Gary Fisher,Glen Fisher,M Flaherty,K Foulstone,D Foxcroft,K Francis,J Fraser,A Fraser,D Fredericks,C	1 36 17 1 17 61 27 30 3 5	1 44 22 1 11 81 39 38 5 8	14106599018	34 321 297 14 25 696 400 278 71 138 396	34* 41 73 14 12* 33 59 21 43 86 32*	8.03 14.14 14.00 5.00 9.16 13.33 9.59 14.20 19.71 7.92	2 - 2 - 1 -	-	5 18 - 5 10 2 27 3	6 9
Garrity,D Garrity,M Gee,P Gee,W Geldart,G Gelding,G Gill,G Goynich,A Goynich,M Graham,A Graham,J Graham,N Gray,M Grigg,A	43 114 11 2 1 38 121 17 4 2 20 11 135 83	54 131 12 2 1 57 136 24 4 3 24 13 24 13	9 17 1 1 - 17 19 1 - 2 - 1 2 7	858 2298 236 11 5 309 1629 407 17 24 196 150 7 643 1705	66 107 49 8* 5 36 102* 101 13 21 47 34 7* 64 126*	17.70 4.25 8.00 8.91 11.54 7.00 15.31	1 7 2 2 5	2 - - 1 1 - - - 1	19 71 5 - 7 57 10 2 1 5 2 - 19 74	13
Hagan,P Haines,B Hall,M Hamilton,I Harvey,M Heggen,M Heggen,S Henderson,C Hewat,J Hill,K Holgate,J Holland,M Houston,C Hromow,M Hudson,M Hudson,M Hudson,M Hughes,D Hughes,T Hunt,M Hurst,A Hutchison,T	25 156 53 10 19 39 11 22 10 13 5 266 40 29 8 17 15	33 2 46 59 9 22 39 11 26 14 16 8 3 74 14 53 35 13 17 20	8 0 14 16 - 3 6 - 5 - 3 - 15 5 2 2 3 2	527 0 486 298 184 185 459 172 181 90 248 60 22 518 22 675 428 310 118 167	22 58, 9 53 77 97 26	0.00 15.19 6.93 20.44 7 9.74 13.91 15.64 8.62 6.43 19.08 7.50 7.33	- 1 - 2 2 2		11 -20 12 1 3 19 5 5 1 7 2 - 13 7 12 11 1 10 2	2
Irvine,A Irwin,L	51 14	54 18	1 5	1510 71		28.49 5.46			22	****
Jones,F Jones,G	33 29	37 35	5 1	546 716		17.06 21.06			10 11	- -

		Mtchs	Inngs	NO	Runs	HS	Avge	50	100	Ctchs	Stp
	Karey,B Kelaher,D Khan,T Kiernan,D King,D King,P	52 70 41 35 16 13	47 95 39 28 19	25 18 12 9 6	149 1432 1092 374 167	70 105* 73* 32*	19.68	3 6 2	1 -	4 46 26 11 8	
	Lalor,G Lamont,A Lattimore,N Le Riche,M Lindenmayer, Lindenmayer, Lipscombe,H Lloyd,B Lowndes,S	52 27 40 24 B 36 D 29 68 73	53 31 54 27 35 33 49 90 2	11 2 7 7 6 7 26 12	356 385 393 251 295 762 78 1429	58 35 30 28 150 7* 66	13.28 8.36 12.55 10.17 29.31	2 - 3 - 4 -	2	14 12 16 9 12 11 11 39	
	Macdonald, A MacLeod, I MacLachlan, P Manson, M Marshall, M Marshall, S Mathas, M Mathieson, R Mathews, D Matthews, W May, H McCormack, J McKinnon, G McLennan, J Meek, A Mehta, A Mewett, K Michelle, A Middleton, A Mills, M Misso, R Mitchell, P Moore, D Moore, G Morey, R Morgan, C	94 48 15 26 24 112 6 23 38 24 8 35 23 61 52 21 36 14 11 6 51 91 23 7 51	47 56 16 36 15 122 7 38 41 18 10 45 31 82 26 12 12 11 7 35 76 25 74	18 3 1 7 7 9 - 1 2 6 2 2 4 5 7 3 0 14 4 3 1 17 18 5 1 18 5 1 18 5 18 18 18 18 18 18 18 18 18 18 18 18 18	151 508 57 778 69 2100 164 449 713 735 736 273 1295 980 249 0 138 97 199 66 783 259 105 844	51 19 72	5.21 9.58 3.80 26.83 8.63 18.58 23.43 12.14 18.28 5.83 4.38 17.12 10.11 17.04 17.82 10.83 0.00 7.67 12.13 24.88 11.00 4.78 13.50 12.95 13.13 12.23	1 2 - 10 1 3 4 3 6 2 1	1 - 1	18 31 6 7 5 43 3 4 10 10 4 13 2 26 22 3 - 15 6 2 1 9 44 13 3 12	2
	Munt,D Murray,P Neal,R	37 58 76	43 64	1 2	797 593	81 56	18.98	3 1	<del>-</del>	16 26	
			79	8	484	36	6.82		-	38	-
•	O'Connor,A O'Donnell,T O'Neill,D Osborne,D O'Sullivan,G	23 2 15 86 33	26 2 14 97 43	1 1 12 3	298 11 229 1609 441	65 9* 48 125 33*	11.46 11.00 17.62 18.93 11.03	1 - 4 -	1 - - 1	15 1 5 32 16	  
	Pattinson,W Peacock,B Peacock,R Peacock,S Peppink,F	67 42 46 52 48	93 52 53 58 42	8 15 5 3 10	1208 1282 583 821 252	91 107* 54* 90 25	14.21 34.05 12.15 14.93 7.88	3 7 1 3	1	62 22 20 18 16	4

	Mtchs	Inngs	ИО	Runs	HS	Avge	50	100	Ctchs	Stp
Peters,J Pitchford,R Poidevin,T Price,A Pritchard,R Pyke,J Pyke,S	9 7 5 5 7 20 5	9 10 7 5 8 20 7	1 3 0 0 1 2	210 35 115 33 72 385 120	46 12 44 18 21 53 48	26.25 5.00 16.43 6.60 10.28 21.39 17.14	- - - - 1	-	14 1 4 3 5 13	
Quigg,G Quinlivan,D	48 12	72 15	5 1	1425 251	162 77	21.27 17.93	5 1	3 -	13 3	
Reardon,C Reed,D Reed,J Reed,P Reeson,R Roberts,G Rogers,R Ross,K Rowe,C Roxburgh,I	15 51 30 41 30 14 87 13 78 37	6 64 39 52 41 16 90 11 88 49	3 12 6 1 3 2 10 1 9	75 755 365 720 421 312 1968 73 1564 672	26 70 49* 94 47 53 92 19 84* 73	25.00 14.52 11.06 14.12 11.08 22.29 24.60 7.30 19.80 14.93	2 - 3 - 1 10 - 6 2		13 19 17 13 10 5 55 3 120 8	5 - 2 - - - 18
Samarcq,R Scott,D Scott,R Selman,C Sinderberry,M Slade,W Small,D Smethills,M Smith,D Smith,E Smith,S Stephens,A Stonebridge,B Swanson,R	31 7 49 25 3 6 28 1 12 24 114 13 31	35 8 46 26 5 7 35 2 16 24 140 15 36	1 16 9 1 4 1 0 0 1 7 1 6 3	436 52 194 194 32 1 355 4 140 290 3218 339 372 690	72 18 22* 22* 16 1 45 4 68 37 100* 102 49* 133*		3 	- - - - - - 1 1 1	14 1 27 10 2 2 10 - 3 9 53 7 29 5	5 - 2
Taplin,R Taylor,J Taylor,N Thomas,A Thomas,J Thomas,P Traynor,K Treloar,M	1 6 17 28 17 16 3	1 7 25 42 16 20 4	0 1 2 7 2 6 1 4	43 12 197 604 302 284 18 412	43 4 30 68 69 53 15 36	43.00 2.00 8.54 17.26 21.57 20.29 6.00 10.05	- - 1 2 1 -	1	2 8 2 4 4 7	-
Wall,G Wallace,S Wells,W Wentworth,P Weston,A White,I Willett,B Willett,E Wilson,G Wilson,M Winter,R Wood,G Woodward,I Wyche,G Young,G	13 15 12 7 13 1 70 62 23 48 105 17 28 1	12 18 21 9 12 1 80 80 26 39 128 16 34	1 0 0 1 18 11 6 12 9 1 3	216 193 100 78 160 10 1084 811 372 71 2114 73 361 0	22 51 10* 73 56 78* 97* 15 104	17.48 11.75 18.60 2.63	2 - - 1 - 4 2 2 - 6 - 1 -	- - - - - - - - 1	26 17 2 2 1 78 24 11 23 76 76	12

- 41 - CLUB CAREER PERFORMANCES - 1969/70 to 1982/83

	•				,			
Bowling	Balls	Mdns	Runs	Wkts	Avge	В/В	5W Inns	10W Mtch
Adams,J Allan,R Anderson,B Anderson,N Andrews,B Ayre,S	242 5695 53 87 42 24	3 115 - 7 3 2	120 2020 42 24 20 7	5 175 3 1 -	24.00 11.54 14.00 24.00	2/12 7/16 2/18 1/16 -	11	
Balkin,K Beacroft,G Beauchamp,G Bennett,T	3604 930 5283 18	82 24 100	1420 379 2760 7	128 18 158	11.09 21.06 17.47	6/45 4/53 7:38	7 - 7	<del></del>
Berling,A Bice,J Blackshaw,W Boardman,W Bonnett,P	728 2566 54 4905 64	12 59 1 223	380 1012 20 1584 47	18 59 2 107 2	21.11 17.15 10.00 14.80 23.50	- 3/13 7/17 2/2 7/34 1/11	- - 2 - 4	- - - -
Bradley,P Bradley,R Brady,M Brazel,K Bryant,S	60 338 1566 6 5035	2 1 83 - 230	53 192 503 2 1665	2 12 31 - 125	26.50 16.00 16.23	2/13 4/25 5/12	- 2 -	 -
Bubke,R Bush,G	66 2389	2 33	49 1159	3 55	13.32 16.33 21.07	6/19 1/22 5/60	3 - 3	-
Cannon,J Campbell,T Canney,I Carney,D Chibnall,R Clout,J Coe,B Cook,P Cornish,P	6 692 6616 1440 3228 60 4615 296 60	1 28 140 77 75 4 97 7	231 2555 638 1183 34 1785 129 32	9 179 48 101 3 127 12	25.67 14.27 13.29 11.71 11.33 14.06 10.75	- 4/24 7/31 6/35 7/34 3/34 7/34 4/50	9 2 7 - 8	3
Crick,P Cristofani,V Crockart,D Croker,G Cullen,M	1120 1072 468 2407 480	22 21 7 72 26	359 441 329 940 157	40 20 15 61 12		10/23 4/16 3/62 4/17 4/26	1	1
Dale,R Davidson,N Delaney,E Dockrill,B Dowling,P Driscoll,M Dunstone,C	6 558 2401 6344 252 152	31 38 120 11 4 2	3 214 982 2444 96 84 90	7 59 207 2 4 6	30.57 16.64 11.81 48.00 21.00	3/16 7/44 9/45 1/6 2/11 3/23	3 8 -	- - 1 
Evans,G	224	6	88	4	22.00	3/65	-	
Fisher, Gary Fisher, Glen Flaherty, K Foulstone, D Francis, J Fraser, A Fraser, D	1744 6 1516 2982 54 114 533	30 - 82 61 1 8 22	806 3 488 1339 21 27 175	43 - 21 85 - - 9	18.74 - 23.24 15.75 - 19.44	7/34 - 4/54 4/3 - 2/32	2	-   
Fredericks,C	2960	48	1278	75	17.04	6/9	1	

	4 2	
_	41 /	_

			- 42 -					
	Balls	Mdns	Runs	Wkts	Avge	B/B ·	5W Inns	10W Mtch
Garrity,D Garrity,G Garrity,M Gee,P	147 8773 126 12	5 364 2	76 3029 64 12	5 239 3	15.20 12.67 21.33	3/19 8/37 2/31	11 -	1 -
Geldart,G Gelding,G	1200 6187	15 85	594 2722	35 164 —	16.97 16.60	6/36 7/66 -	2 5 -	- -
Gill,G Graham,A Graham,J Grigg,A	30 1446 78 182	3 2 3 4	19 580 41 95	39 5 5	14.87 8.20 19.00	4/22 3/20 2/19	 -	-
Haines,B Hall,M Hamilton,I Harvey,M Heggen,M Heggen,S Henderson,C Hewat,J Holgate,J Hromow,M Hudson,M Hunt,M Hutchison,T	24 5734 5088 150 64 1945 72 54 650 4978 1038 177	140 115 6 3 24 3 1 18 141 53 11	17 1881 1824 74 13 1015 32 32 274 1855 435 67 2	- 130 141 3 2 69 1 - 25 112 29	14.47 12.94 24.67 6.50 14.71 32.00 - 10.96 16.56 15.00 7.44	6/17 7/8 2/31 1/8 5/29 1/15 - 6/12 7/74 5/20 3/3	7 8 - 1 - 13 5	3
Irvine,A	83	-	. 60	1	60.00	1/15	-	<del></del>
Jones,F Jones,G	770 24	9 1	467 10	24 -	19.46 -	3/34 -	****	<del>-</del>
Karey,B Kelaher,D Khan,T Kiernan,D King,D King,P	4452 1422 4145 2899 1380 156	165 24 218 45 60 2	1580 626 1240 1071 552 77	85 46 73 101 29 11	18.59 13.61 16.99 10.60 19.03 7.00	4/23 4/8 6/45 6/15 5/35 7/30	- 4 2 1	1 -
Lalor,G Lamont,A Le Riche,M Lindenmayer,B Lindenmayer,D Lipscombe,H Lloyd,B Lowndes,S	4047 584 1318 856 928 5171 1600	124 7 69 8 18 91 29	1329 252 381 527 393 2140 640	104 13 33 31 30 141 33	12.78 19.38 11.55 17.00 13.10 15.18 19.39	5/48 3/34 5/33 5/46 6/28 6/46 4/11	1 1 1 1 -	- - - - -
Macdonald, A MacLachlan, P MacLeod, I Manson, M Marshall, M Marshall, S Mathas, M	9033 1421 146 1980 1592 92 30	294 56 7 50 30 4 1	3717 542 61 477 726 47 13	242 33 2 39 44 3	15.36 16.42 30.50 12.33 16.50 15.67	7/65 4/27 1/4 5/7 6/26 1/4	6 - 3 2	
Matthews,D Matthews,W McCormack,J McKinnon,G May,H McLennan,I Meek,A Mehta,A Michelle,S Middleton,A	6 2021 296 1540 402 2520 96 498 2848 1303	48 6 67 19 60 1 17 137	768 138 589 179 877 66 208 996 624	56 12 34 8 72 5 7 73 32	13.71 11.50 17.32 22.38 12.18 13.20 29.71 13.64 19.50	2/12 6/17 3/29 3/7 5/24	- 6 - - 1	

- 43 -

			- 4	ქ <del>-</del>				
· 	Balls	Mdns	Runs	Wkts	Avge	В/В	5W Inns	10W Mtch
Mills,M	24	3	_					
Misso,R	78	1 -	7	-	-	-		
Mitchell,P	4113		78	-		-		_
Moore,D		118	1515	101	15.00	6/31	4	
	12068	608	2764	313	8.83	7/17	24	3
Moore,G	1432	69	518	24	21.58	4/26	_	_
Morgan,C	3129	76	1265	91	13.90	6/31	3	_
Munt,D	978	13	491	33	14.88	6/34	1	_
Murray,P	810	19	345	24	14.38	4/18	_	-
Neal,R	9568	219	3352	297	11.29	9/52	23	2
O'Connor,A	1358	35	630	31	20.32	5/31	1	
O'Donnell,T	36	4 .	5	-	20.52	J/J±	1	-
O'Neill,D	1.8	_	13	_	_	_		-
Osborne,D	40		55	-	_	_	_	-
O'Sullivan,G	1526	19	926	47	10 70	 	_	
		4.5	720	4 /	19.70	6/74	2	
Pattinson,W	40	_	34	1	34.00	1/7	_	_
Peacock,B	1713	59	691	70	9.87	6/24	3	
Peacock,R	1440	58	577	24	24.04	4/33	_	-
Peacock,S	1912	34	1159	55	21.07	$\frac{4}{7}/24$	2	<del>-</del>
Peppink,W	3518	88	1251	105	11.91	5/19	4	1
Pitchford,R	214	16	35	11	3.18	4/6		-
Poidevin, A	48	1	22	1	22.00		_	-
Pritchard,R	162	3	82	5		1/22	-	-
Pyke,J	301	12	123	8	16.40	4/24	_	-
Pyke,S	516	22	219		15.38	4/26		_
•		42	219	13	16.85	3/14	-	_
Quigg,G	3456	77	1205	117	10.30	7/18	6	
Quinliv <b>a</b> n,D	546	15	251	6	41.83	3/31	<del>-</del>	_
Reed,D	1000	0	630	_				
Reed,J	1008	9	613	39	15.72	4/16	-	-
Reeson,R	110	1	71	1	71.00	1/36	-	_
Rogers,R	2440	118	832	7.4	11.24	5/48	1	****
	11	<u>-</u>	7	1	7.00	1/2	-	
Ross,K	1393	83	395	28	14.11	5/21	2	_
Rowe,C	424	10	156	5	31.20	1/6		***
Scott,R	4180	187	1462	105	13.92	7/15	_	
Selman,C	1562	47	603	37		7/15	6	_
Small,D	414	12	195		16.30	5/28	1	-
Smith,S	320	4	192	8	24.38	4/32	•	_
	320	7	192	8	24.00	1/6		***
Taylor, J	66	2	29	1	29.00	1/16	-	
Taylor, N	84	5	17	-	-	_	_	_
Tekloot,S	768	16	267	29	9.21	4/10		
Thomas,P	992	33	326	23	14.17	5/13	1	_
Treloar,M	8	_	39	1	39.00	1/0		_
Wallace,S	159	4	104	c	17 00	0.45.5		
Wells,W	6	1		6	17.33	2/16	-	UMAS .
Wentworth, P	30	$\stackrel{\scriptscriptstyle\perp}{1}$	_ 11	-	-	-	-	-
Willett,B	8		11	-		-	-	-
Willett,E		- 10	16	-	_	-	-	-
Wilson,G	320	12	113	9	12.56	3/18	-	***
Wilson,M	32	~ C 1	13		<del></del> .	-	-	-
Winter,R	2862	61	1242	89	13.96	5/19	3	_
Winter, R Wood, G	6393	143	2635	177	14.89	7/61	9	_
	1356	54	552	38	14.53	4/20	-	-
Woodward,I	63	1	32	2	16.00	1/0	_	-

# CLUB BATTING RECORDS

## BEST PARTNERSHIP FOR EACH WICKET

## SEASONS 1969/70 to 1982/83 INCLUSIVE

Wicket	Total	Established	Batsmen and Contribution
1* 2* 3* 4* 5 6* 7 8* 9* 10* (eq)	151 172 165 129 157 121 98	J ANU 1/12/79 G	. Gelding 76, S.Smith 50 .Beacroft 97, D.O'Neill 46 .USDorne 125, I.Canney 43 R.Rogers 85, A.Irvine 73 R.Rogers 78, D.Munt 51 N.Davidson 95,S.Marshall 52 C.Henderson 54,G.Wall 57 C.Rowe 63,D.Moore 33 W.Reed 42,D.Kelaher 36 R.Allen 29,D.Moore 20
2nd Grade  1 2 3 4 5* 6 7 8 9 10	148 109 119 141 118 74 91	v Sth Woden 3/3/73 v Woden 28/11/81 v Easts 15/12/79 v Norths 10/3/79 v Easts 13/3/77 v Sth Woden 8/3/80 v Queanbeyan 6/2/82 v ANU 11/10/80 v City 9/1/70 v City 27/1/73	W.Pattinson 56, R.Harden 45 D.Crockart 54, G.Jones 89 G.Garrity 53, P.Reed 47 G.Garrity 58, D.Garrity 55 V.Cristofani 93, R.Samarcq 44 G.Gelding 67, T.Driscoll 48 F.Jones 33, W.Boardman 35 G.Garrity 70, D.Crockhart 21 D.Driscoll 40, J.Evans 22 S.Evans 34, R.Millar 16
3rd Grade  1 2 3 4 5 6 7 8 9	90 85 83 84 135 84 70 (57	v City 4/11/78 v Woden 13/3/76 v ANU 5/3/83 v City 17/1/76 v City 5/12/81 v Norths 23/11/74 v Queanbeyan 24/2/79 v Sth Woden 20/11/82 v ANU 17/12/77 v Woden 3/11/79 v City 23/3/75	E.Delaney 54x, A.Grigg 34x M.Gray 52, I.Mclennan 29 M. Mathas 43, C.Gill 37 P.Bonnett 40, R.Winter 35 S.Peacock 24, B.Peacock 58 P.Hagan 95x, P.Bonnett 35 A.O'Connor 65, S.Bryant 19 J.Holgate 28, S.Wallace 40 D.Garrity 29, S.Heggen 28 P.Reed 35, C.Selman 21 G.Beacroft 52, P.Crick 0
4th Grade 1 2 3 4 5 6 7* 8 9 10*(eq)	106 90 112 73 76 114 143 60 70	d 1975/76 to 1977/78) v Norths 13/12/80 v Sth Woden 9/2/72 v Sth Woden 20/11/82 v Easts 20/2/82 v Sth Woden 1/3/80 v Weston Ck 16/2/80 v ANU 18/11/78 v Sth Woden 6/10/73 v ANU 11/1/75 v ANU 11/10/80	D.Fraser 35, D.Smith 68 D.Hughes 21, K.Foxcroft 59 W.Blackshaw 46, G.Garrity 63 G.Gill 48, N.Barnard 21 B.Peacock 60, T.Hutchison 15 G.Fisher 56, B.Peacock 55 D.Lindenmayer 88, D.Ayre 49 B.Stonebridge 31, K.Hill 29 D.Lindenmayer 43, A.Grigg 20 R.Reeson 39x, G.Lalor 7

<sup>\*</sup> Denotes Club Record x Denotes Not Out

## CLUB AWARDS

## Club Champion

		_				
1976-77 C. Rov 1979-80 B. Pea 1982-83 G. Gar	acock 1980-81	G. Garrity G. Garrity	1978-79 1981-82	R. Winter D. Moore		
	Most I	mproved				
1977-78 A. Mee	ding 1975-76	P. Bonnett K. Balkin G. Croker J. Pyke	1973-74 1976-77 1979-80 1982-83	B.Stonebridge B.Willett S.Bryant M.Garrity		
	Club S	ticker				
1970-71 W. Ree 1973-74 S. Smi 1976-77 M.Mars 1979-80 P.Murr 1982-83 G.O'Su	th 1974-75 hall 1977-78	W. Patterson A. Casey R. Rogers R. Rogers	1972-73 1975-76 1978-79 1981-82	S.Evans D.Moore G.Gelding D.Matthews		
	welve Leading F	Run Scorers for	Club			
S. Smith 321 G. Garrity 229 R. Winter 214 S. Marshall 210	8 G. Croke 8 G. Beaud 4 R. Roger	er 2047 Shamp 1988	A. Grigo I. Canno G. Geldi P. Bonno	ey 1642 ing 1629		
$\underline{\mathrm{T}}$	welve Leading W	licket Takers fo	or Club			
D. Moore 31. R. Neal 29 A. Macdonald 24. G. Garrity 23	7 L. Howe 2 I. Canne	180 179	R. Allar G. Geldi G. Beaud I. Hamil	ng 164 champ 158		
Twelve Leading Catchers (and Stumpings) for Club						
A. Casey 108 B. Willett 78 R. Winter 76	<del>-</del>	ty 71 nson 62(4) ng 57	T. Drisc R. Roger S. Smith G. Croke	55 1 53		
* Denotes wicketkeeper						
Most Matches (Twelve Leading)						
G. Beauchamp 161 G. Gelding 121 S. Smith 114 G. Garrity 114	R. Winte G. Croke	r 105 r 100	D. Moore R. Roger P. Bonne D. Osbor	s 87 Ett 86		

# HISTORY OF WESTERN DISTRICT CRICKET CLUB

# A.C.T.C.A. GRADE COMPETITIONS

Season	Club C'Ship	lst Gr	2nd Gr	3rd Gr	4th Gr	5th Gr	S A	ub-Di B	stric C	t D
1969-70 1970-71 1971-72 1972-73 1973-74 1974-75 1975-76 1976-77 1977-78 1978-79 1979-80 1980-81 1981-82 1982-83	7 6 7 5 4 5 1 3 2 1 3 4 3	5 8 8 5 5 3 1 4 4 2 3	6 6 2 8 5 4 2 3 1 2 3 4 1 7	5 5 5 2 1 2 3 4 2 3 9 7 4 7	6 7 10 7 2 5 - 4 5 8 8 3	- 1 2 4 No Longer	496	4		8 3

## PAST OFFICE BEARERS

Season	Patron	President	Secretary	Treasurer	
1969-70		P. Rudge	E. Wheeler	M. Stark	
1970-71	<b></b>	M. Stark	E. Wheeler	W. Reed	
1971-72	M. Stark	(L. Buckley (G. Blundell	I.G. Canney	M. Quinan <b>e</b>	
1972-73	· •	G. Blundell	G.W. Gelding	W. Pattinson	
1972 73	Hon F. Stewart MP	G. Blundell	G.W. Gelding	W. Pattinson	
	Hon F. Stewart MP	S.E. Smith	A.J. Casey	B.G. Dockrill	
1974-75	K. Fry MP	G.W. Gelding	A.J. Casey	B.G. Dockrill	
1975-76 1976-77	K. Fry MP	G.W. Gelding	A.J. Casey	B.G. Dockrill	
	K. Fry MP	G.W. Gelding	D.P. Munt	G.P. Garrity	
1977-78 1978-79	K. Fry MP	G.W. Gelding	P.D. Murray	G.P. Garrity	
	K. Fry MP	G.W. Gelding	P.D. Murray	G.P. Garrity	
1979-80 1980-81	K. Fry MP	(G.W. Gelding (W. Boardman)	P.D. Murray	G.P. Garrity	
1981-82	K. Fry MP	W. Boardman	D. Matthews	G.P. Garrity	
1982-83	K. Fry MP	W. Boardman	D. Matthews	G.P. Garrity	

### CLUB MEMBERSHIP 1982/83

## <u>Life Member</u>

### G. Gelding

#### Members

Ν.	Anderson
----	----------

N. Barnard

G. Beauchamp

T. Bennett

W. Blackshaw

W. Boardman

P. Bradley

R. Bradley

S. Bryant

J. Clark

J. Clout

P. Cook

M. Cosgrave

J. Cosgrave

G. Croker

R. Dale

N. Davidson

T. Driscol1

K. Flaherty

J. Francis

G. Garrity

M. Garrity

G. Gill

J. Graham

C. Henderson

J. Holgate

M. Hudson

F. Jones

G. Jones

B. Karey

D. King

A. MacDonald

S. Marshall

M. Mathas

D. Matthews

H. May

G. McKinnon

A. Mehta

S. Michelle

M. Mills

D. Moore

G. Moore

T. O'Donnell

G. O'Sullivan

B. Peacock

R. Peacock

S. Peacock

R. Pritchard

J. Pyke

D. Quinlivan

P. Reed

R. Reeson

R. Rogers

K. Ross

D. Scott

R. Scott

D. Small

J. Taylor

N. Taylor

G. Wall

S. Wallace

A. Weston

G. Wyche

·